Blue(ch4):Vin(5V, 2V/Div)
Yellow(ch1):EN(3.3V, 2V/Div)
Pink(ch3):Reset signal(2V/Div)
Green(ch2):Vout(1.2V, 2V/Div)

Edgo CHI 1,00,
fismssosia

100ms/div

100ms/div

Vout is not output

Blue(ch4):Vin(5V, 2V/Div)
Yellow(ch1):EN(3.3V, 2V/Div)

Pink(ch3):Reset signal(2V/Div)
Green(ch2):Vout(1.2V, 2V/Div)
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7500V +15.0000V +3.00000V
DC 10.0:1/DC 10.0:1/DC 10.0:1/DC BW 10.0:1

-350.00mA

SW out wave forms
Fsw is Low
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AX = 54.00ns 1/AX = 18 519MHz AY{1) = 5.00000V

+1.97400V +15.0000V +3.00000V -350.00mA “
DC 10.0:1/DC 10.0:1/DC 10.0:1/DC BW 10.0:1

SW out wave forms
Fsw is Low

AX = 204.00ns

+£.00000V +15.0000V +3.00000V +281.25mA
DC 10.0:1DC 10.0:1DC 10.0:/DCBW  100:1

|
1/AX = 4.9020MHz [AY(1) = 5.02500V

SW out wave forms
Fsw is High

It is same as the above.



